REBOREHERR—E

SRR 1 24F AR A R 52009 5 561 - LA M R AL
I =M M (kN) 591
FARERER Hh Mo kN) 485
HhE AR 2K Z 1.0
HA D — YR LB E H] T, (sec) 0.321
Hi D YR 5L E 1 T, (sec) 0.107
— R BRI T A R R Gs, 1.575
TR BRI T L i R Gs, 0.946
o R AL E AR nou (m) 0.405
BR TR L S 35°C HLHERE:20°C WIPE AR -5°C I -
ERRKAFIE, 1EH0% £ HLYERS E £ JLHERS iE & JEUERY E FE I
AT ) Keq  (kN/m) 147 179 239 158 190 255 177 213 279
FXEHIR S E A JE Ts (sec) 3.640 3.306 2.856 3.513 3.208 2.769 3.319 3.028 2.644
A 0D 11358 4 i Gs 1.230 1.230 1.230 1.230 1.230 1.230 1.230 1.230 1.230
BRI R Dol e AR hd 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
S 8 O SEAME EE Veq | (m/sec) 0.55 0.55 0.58 0.52 0.51 0.54 0.46 0.45 0.48 |Veq=2 7t 6 /Ts
AR SCi (kN-sec/m) 29 33 35 34 38 40 42 48 50
VAR R 2K hv 0.173 0.176 0.160 0.191 0.196 0.178 0.226 0.233 0.213 |hv=1/4 7 - Ts X Ci/M
TN B AR R Fh 0.550 0.544 0.577 0.516 0.506 0.540 0.460 0.451 0.479 |Fh=1.5/(1+10+(hd+hv))=0.40
EEES Q (kN) 47 51 63 46 49 61 43 46 56 |Q=5.12-M+Fh-Z+Gs/Ts
FEHEIENT B (m) 0.320 0.287 0.263 0.289 0.259 0.239 0.244 0.218 0.202 | 6 =Q/Keq
RELAL 5’r (m) 0.320 0.287 0.263 0.289 0.259 0.239 0.244 0.218 0.202 6=+ 6=1.0X§
I A W BN Sr (m) 0.351 0.316 0.289 0.318 0.285 0.262 0.268 0.240 0.222 [ 6 r=1.1X § 'r=0.405 (OK)
(STEP10)  $BJEH/NITTU A §req (m) 0.451 0.416 0.389 0.418 0.385 0.362 0.368 0.340 0.322 | 6 req= 6 r+0.10
4 YA MR Qh (kN) 3 3 5 3 3 5 3 3 5 |Qh=Qd
WA (S Qe (kN) 45 49 58 43 46 55 41 44 51 [Qe=Q-Qh
NS Qv (kN) 20 22 24 21 23 26 23 25 28
WEMOE AR R 0.041 0.045 0.055 0.043 0.047 0.057 0.046 0.050 0.061 | 1 =0.030 (OK)
SR E DI B R Vr | (m/sec) 1.16 1.14 1.21 1.08 1.06 1.14 0.97 0.95 1.01 |[Vr=2-y (Qh+Qe): 6 r/M) =1.50 = (OK)

BEARRITE Kt (kN/m) 139 169 219 149 179 232 167 200 253 |Kt=K,

PR Tt (sec) 3.744 3.397 2.987 3.617 3.301 2.900 3.423 3.121 2.780 [Tt=2 7 V" (M/Kt)=2.00 (OK)
SREREE AR IR Cri 0.12 0.13 0.16 0.12 0.13 0.16 0.12 0.13 0.15 [Cri=0.20 (OK)
TEHEEERET | Qiso (kN) 59 65 78 59 64 77 58 63 74

B o o R.x 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 [Re<0.030 (OK)

Rey 0.029 0.029 0.029 0.029 0.029 0.029 0.029 0.029 0.029 |Re<0.030 (OK)




